== A
N £ O & =5 & Al
20208 & =0l & L EBHSI A AMOHEH
2AM: AOHEH
S A 22
S0 AFDHE AFE B HI )
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 e 2
AOH & 353,948 60,387
MO 2 310,513 60,397
AHOH S At B HI 310,513 60,397
A2A2F0=RAAY 50,000 0
401 Al Bl 28I 50,000 0
01 A& HI 50,000 0
OLAL2=0=3 ALY 50,000
Asgedt 249 11,994 4,960
301 LEAF 11,994 4,960
04 X2 HUHAHXS 11,994 4,960
OAMUHXE2EHUH 29 7,034
OFHBIXI &bl 4,960
sclbtE 29 95,450 28,000
301 LPEASZ 95,450 28,000
05 SE-0F RS2 95,450 28,000
ool&=¢ 93,600
ll2=¢ 300,000&*20H x12& 72,000
G 300, 000& *20H 200% 12,000
SloFEAE 20,0003 *20E x 123 *23| 9,600
Ou&EE A3 25,000 *37H »23] 1,850
S @A 14,100 0
201 Let2d] 10,000 0
03 A2 Z bl 10,000 0
OAMDiEBICY 10,000
301 getEd 3 4,100 0
09 SALAHIX A S 3,100 0
OAOIEEU Sl (H435]) 500
O&Ee Ml 1,000
ODJIEtH At 800
O0lZ(28) MsU3 40,0003 x20H 800
12 J|EtE &= 1,000 0
SAHIA 1,000
AOHEH H AR2t 2| 138,969 27,437
101 1A Hl 14,449 2,257
04 JIZHHZ2XREES 14,449 2,257
O 28 JH2HHI(ZL M=)
71,830 x10H 5,747
Oy 12 4,578




M AHEH
M AMHE 22
o

S ADHE At Y

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SAAY o2 68,720x60 x1H 4,124
SAAIY EEE 4,124,000 x11% 454
ORIAXN L A2 22 & ot M M= &
o 68,7202 x60 x 14 4,124
201 LBEt2 Y| 78,680 65, 180 13,500
01 AP 22l Yl 62,680 49,180 13,500
OYur =B (EAHLZX 32 ESRSTA D) 15,100
OS3=7 ZY Y2 (WO SNE H2X
) 500,000& 3 1,500
OSYd (M2, T S 2Y) 1,680
OHAEAN 20138 100,000& 10 A x12& 1,200
OS2 & Ro1&H|
100,000& *1J0H A x12& 1,200
Odld KA el UL X= 42,000
02 35244l 16,000 16,000 0
OZ2Z22=2 2% MM (HAHLEXH, Q2EHE) 8,000
OHZHI (EAHLEX g2, 2 A2 4,000
OA & &Hl S XY 4,000
206 M = Hl 7,460 7,460 0
01 & bl 7,460 7,460 0
OZ2ZXH Mz>2Y 1,000
OgddLrs RFH| 5,460
a8 1,400& *3,500¢ 4,900
=g 1,600& *3504 560
o= 22 1,000
401 A& H L 2T 10,000 10,000 0
01 A& HI 10,000 10,000 0
OHAEAN &1 MF3A 10,000
405 XtabF S| 28,380 16,700 11,680
01 AL 2 EF SHI 28,380 16,700 11,680
OFUHAIE HEIL(FOUANSSAAY) 5,600
OFA 39 & 3o=2EX F¢
320,000 =144 4,480
OFA 324 JogAX ¢
150,000& *30 4 4,500
O3lolal HAE X 2 50, 000& *150H 7,500
O=SAI 2¢ 5,500,000& = 1CH 5,500
OJIAHE #+¢ 500, 000& = 1CH 500
Ooul=x=J ¢ 300,000& =1CH 300
HE 2 FY| 43,435 43,445 A 10
Jl2& bl 43,435 43,445 A 10




S A AOHEH

Hu: #2ARY)

@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
AHOREH D123 H| 43,435 43,445 A 10

201 Bt H | 6,875 6,925 A 50

01 AP 22l Yl 2,875 2,925 A B0
OsRY =222 25,000& x115 2,875

02 =329l 4,000 4,000 0
O Xt | 4,000

202 04| 26,400 26,400 0

01 2L Y| 1,200 1,200 0
O=2WHo bl 1,200

02 EHN Y| 25,200 25,200 0
OEHHYI 150,000& *14H x12& 25,200

203 g R =&lY| 10,160 10,120 40

01 J|22H L R=AH| 6,600 6,600 0
OHE 6,600

02 RO R =AY 560 520 40
O&FJAINNML R =AY 40,000 *1444 560

04 ENSIHRF=EY| 3,000 3,000 0
ORN2gIRF&Y| 250,000& x12& 3,000




